
DAX-FH8452-675

SHOWER SYSTEMS SERIES



FEATURES

• Three function valve
• Wall mount system
• Rainshower
• Body jets with independent control
• Handshower included
• Silicone water nozzles
• Ceramic cartridge
• Flow rate 2.0 GPM
• Thermostatic valve
• Anti-scalding protection
• Brass body
• Chrome finish

DAX-FH8452-675

63”
15-3/4”

7-7/8”
84-5/8”

41
-5

/1
6”

11-13/16”

17-3/4”

G1/2

G1/2

5-15/16”–9/16”



ww w. daxib.c om

MODEL

FLOW RATE (GPM)

SYSTEM HEIGHT

SHOWER WIDTH

INSTALLATION TYPE

MATERIAL

ANTI-SCALDING PROTECTION

SHOWER ARM REACH

SHOWER HEAD HEIGHT

SHOWER HEAD SHAPE

SLIDE BAR INCLUDED

VALVE TYPE

WATER EFFICIENT

WATERSENSE CERTIFIED

FINISH

DAX-FH8452-675

2.0 GPM

84-5/8”

17-3/4”

Wall mount

Brass

YES

17-3/4”

84-5/8”

Round

NO

Thermostatic

NO

NO

Chrome

TECHNICAL SPECIFICATION DAX-FH8452-675

SHOWER SYSTEM DAX-FH8452-675



ww w. daxib.c om

INSTALLATION GUIDE DAX-FH8452-675

01 02 03

04

07

05

08

06

09

Teflon tape

Phillips screwdriver

Pencil

        S2 Wrench

     S2.5 Wrench

S3 Wrench
(Provided)

Goggles

S12 Wrench
 (Provided)

Spirit level

Drill

Ruler

Hacksaw

Prepare and check
below tools.

(Provided)

(Provided)

Hot water

Pipe joint

Cold water

Install the cold and hot water pipes in the wall 
at the height of 41-5/16" off the ground.The 
center distance is 5-15/16" (Make sure the 
installation is correct,otherwise the thermostatic 
cartridge fails to function and may cause 
scalding).Clean pipes to get rid of dirt.

5-15/16" - 9/16"

Faucet body
Locating plate

M4 Screw

M6 plain-ended screw

S-connector set

Remove the two M4 screw off the 
faucet body by phillips screwdrive and 
unscrew M6 plain-ended screw,remove 
locating plate and S-connector set.

Base on the metope,
measure thte depth
of pipe thread by ruler 
and mark by pencil.

Inlet screw joint

Measure the length of inlet screw
joint on the S-connector by ruler,
the length must shorter than that
of the pipe thread,or cut the longer 
part by hacksaw.

Wrap the two S-connectors
with teflon tape.

S12 Wrench

Put the two S-connectors through
the locating plate and screw into
the pipe inlet,slightly tighten the
screw joint by S12 Wrench.

Adjust the S-connector sets 
parallel with the locating plate 
by S12 Wrench,check it by
spirit level.

Spirit level

Tighten the screw joints 
by S12 Wrench.



ww w. daxib.c om

1110 12

13

16

14

17

15

18

INSTALLATION GUIDE DAX-FH8452-675

M5 set screw

Lower shower riser

Take out lower shower 
riser and unscrew M5 
set screw by wrench.

Take out upper shower 
riser and unscrew M5 
set screw by wrench.

Upper shower riser

M5 set screw

Cap

Cap

Pull out the caps on 
the bothsides of the 
faucet body,connect
faucet body with upper 
and lower shower riser,
tighten M5 set screw
by wrench(Attention:
there is no gap 
between the joints).

Mounting base

Mounting base

Install the faucet body 
to the S-connector sets,
take the two mounting 
bases as benchmark to 
mark lines on the wall.

M6 cone screw

M6 cone screw

Pull out faucet body
and unscrew M6 
cone screw by S3 
Wrench,take out 
mounting base.

Toward the mounting base 
to the marked line which 

drawed comply with Fig.13,
take the two slotted holes 
on the base as benchmark 

to mark on the wall.

Drill two 5/16" Hole 
at marked position.Hole1/16" -    5/16"

Insert the anchors.

Fix the mounting 
base on the wall by 
self-tapping screw.



ww w. daxib.c om

2019 21

22

25

23

26

24

27

INSTALLATION GUIDE DAX-FH8452-675

Install the faucet body
to the S-connector 

sets,connect the upper 
and lower shower riser 

with mounting base.
Tighten faucet body 4 
M6 plain-ended screw 
and mounting base by 

4 M6 cone screw.

M4 set screw

Rainshower

Install the rainshower
to the faucet,tighten 

by M4 set screw.
Unscrew M5 screw and 

remove the mounting plate.

Mounting plate

Shower holder M5 screw

Take the slotted holes on the 
mounting plate as benchmark 

to mark lines on the wall.

Drill two 5/16" holes at 
the marked position.

Insert the anchors,fix the 
mounting plate to the wall by 

self-tapping screw,install shower 
holder and tighten by M5 screw.

Handshower

G1/2 connector

Sheath

Hose

Take off the sheath
from G1/2 connector,
connect handshower
and G1/2 connector 
with hose.

After installation,flow
water for pressure test.
Here is handshower
outlet by clockwise 
sense of diverter 

handwheel.

Diverter handwheel

Turn side spray handwheel
counter-clockwise,water

runs from handshower and
side spray outlet simultaneity.

Side spray 
handwheel



ww w. daxib.c om

2928 30Turn the diverter 
counter-clockwise,

water runs from
side spray outlet.

Continue to turn the diverter 
counter-clockwise,water runs
from rainshower and side 
spray outlet simultaneity.

Turn side spray hand-
wheel clockwise,water 
runs from rainshower.

INSTALLATION GUIDE DAX-FH8452-675


